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TEN DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

12JPCMO8 | JEE PRACTICE QUESTIONS | =20
(2023-24) (TEST-8) Total Marks: 180
General Instructions: YouTube/ Akwa Academy

1. The test 1s of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

I If voltage across a bulb rated 220V, 100 W drops
by 2.5% of its rated value, the percentage of the
rated value by which the power would decrease 1s

A) 5% B) 10%

C) 20% D) 2 5%

220V, 100W wHUNLOULL 6@ edlems s eor

Sletreors s Coumiuim@® 25% yeralled@hHs!
aflb&FF  emLwld  eTenfley WS LLLEL
el Gha TSSO  FHIGL  HImer
S6mMULD?

A) 5% B) 10%

C) 20% D) 2.5%

2. A circuit element X when connected to an ac
supply of peak value 100V gives a peak current of
5A which is in phase with the voltage. A second
element Y when connected to the same AC supply
also gives the same value of peak current which
lags behind the voltage by n/2 If X and Y are
connected in series the same supply. what will be
rms value of current in ampere?

A) 1042 B) 5/\2

C) 5¥2 D) 5/2

@ Werammlev X etedrm 2 mILILITETS
QUEBL WL 100 V Q&meior. AC  wiLeor
@emeor&SLLUMGIL CUMEs HeL&EGSGWL GQUHLD

0leoTGeoTITL_L LD  5A =ueordl  LOl6OTEOT (D& &5 S L_60T

RCT HLLSHEV 2 6TensSl. @)TevorLTeud 2 miLlL]
Y 9165 AC apmSBuLer @ eeneorsasULpIn
CUME 265 I6mal QUL WeTGTTL L &HenS,
26fl&EHMme,  whon  OETENWSS5 S SIL 6T
/2 SLL Geumurmligey eorsms 2 emengl. X
INMMILD Y 6@ eupmBIHIWL 60T Q&L flemevorLiLilev
@ emetoTaSLULIGIWL CuMg WlerGer L L&SH60r rms
S L1em L SunLNwiflev Smevorss

A) 102 B) 5/2

C) 532 D) 5/2

3. In the series LCR circuit the power dissipation is
through

A)R B)L

Sy 2 D) Both L and C

LCR QsrLy wWerammlev Hmer @LOLIL] 6860
aBICW gmu(BILD

A)R B)L

C)C D) Both L and C

4. An AC source 1s connected to a capacitor C, due to
decrease 1n 1its operating frequency

A) Displacement current increases
B) Displacement current decreases
C) Capacitive reactance remains constant

D) Capacitive reactance decreases
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WerGssem C  wrmerg  AC
@) 60 600T S HLILIL (H6TeS. @ &lev
215 7 G\ 6U600T GemMmULD G

OV S SIL 60T
G\W&HH
A) @LUQUWIEFF leorGeoT L L LD H &flH &0
B) @LLUQUWIEFSF WlerGermLL LD GemmHma
O) WlerCs85 wileor WleoTMILIL] LOMMTS
D) WetT @5 & & ulledr LAledTLOMILIL] G6emmU]LD
5. A capacitor of capacitance 150 pF 1s connected
to an alternating source of emf given by E =

36sin(120mt)V. The maximum value of current in
the circuit approximately equal to

A)2 A
B) 1/\2 A
C)V2 A

D)2V2 A

WMoHens WeTGeTTLL epeuSSHILer 150 pF
WeTCs5&HHMmer  QaEmeorl. WlarGs &6
@) 60 600TSH & LILIL_(h6ITeTS). Q&EMH&SHUILIL L
Wetr QW& ollems E = 36sin(120xt)V  eTenflev
Weragmmlev 2 6itemn QUEBHLD - LSl 6T G6or ML L& & 6T
WS LI CSMIMWLDITS..

A)2A
B) 1V2 A
C)V2 A
D)2V2 A
6. Inanoscillating LC circuit, the value of inductance
1s 1.6 mH and the value of capacitance 1s 4 puF. If

the maximum charge on the capacitor 1s 4 x 10~
C, then maximum current 1s

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

QM emevamild LC sFmnilev, wlergmevorig udleor
WS 1.6 mH nmmid Wler GxH&H ulleor DS LIL]
4 pF, BeTCs & U6t QUEBLD WleTemL L D& LIL
4 x 105 C eTénflev QuBLD LledT 6ot ML L_LD

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA
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7. 1f 120 V, 60 Hz, AC voltage 1s applied to an LR
having R = 100 ohm and L = 2H, then current in
the circuit 1s

A)0.32A B) 0.16A

C) 0.48A D) 0.80A

120 V., 60 Hz wmmSens Wlereorsdssn LR
FOMIGES QFNGSULGHME, LR smmlév R =
100 gaLd DMMILD L = 2H eTenflev Wlearamnilev 2 _eimerr
LOl60T G6DT ITL_L_LD

A) 0.32A B) 0.16A

C) 0.48A D) 0.80A

8. In LCR series circuit, an alternating emf e and
current 1 are given by equations e = 100sin(100t)
V. and 1 = 100 sin (100t + n/3) mA. The average
power dissipated in the circuit will be

A) 100 W B) 10 W
C)5W D)25W
em LCR  @QsmLy &mnlev LIS ens

WleoreoTWS S0 e WMmMID WleTGeoT ML LD i-@) 60T
Feool GBI WHLILISGET WemBW e = 100 sin
(100t) V, tomouid i = 100 sin (100t + n/3) mA, eTenflev
Wleorarmmlev Frnsiflung @ L&sLUILLL Smeor ...

A) 100 W B) 10 W

C)5 W D)25W

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C) 3u

D) u/2

U HesFCaussHey BSHMHWLD a BlenmuemnL
QI QUTIHET elle mlemevulley 2 6Tem  3m
BlemmulemL il QuUTEEsLer WLF Gmsev
216D FH MG 660l 16V GLOMSH IS G LI LI60T &560TLOTE0T
QUITHET BHHLD HlemFGaIsHLD.
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A)u/3
B) 2u
)30

D) u/2

10. A billiard ball moving with a speed of Sms™
collides with an 1dentical ball, originally at rest.
[f the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™ B) 1 ms™

C) Sms™ D) 2.5 ms™!

Sms”! GaussSHev QFevsn evedlwiLl wLbs
QRTN, QSMTLESSH e Blemevuilsy
2 aTem B85 wWLMHflwmer UGBS R60TMIL 60T
CMa®Hma. CLMSGEGL 6T (WwsHev UBS
BlemeuTE BIM&B M 6Tevfl6v G)TevorLMeUS! LIBS
6T CeoT & BS(HLD GeusdsLD.

A) 10 ms™ B) 1 ms™

C)5ms™ D) 2.5 ms*'

11. A ball strikes a horizontal floor at 450. 25 % of
its kinetic energy 1s lost in collision. Find the
coefficient of restitution.

A) 142
B) 1/4
C) 12

D) 1/22

Ubgs eerm Seoguwler Was HeoLSser
FengFullev 45 CommeorsHev CGLMEHFRMS.
Gmgedler GUMS 25% @QUWEH UMMMV S
@QLEFR M ereflev WL FweflliL] GeooTsSHems
&IT600T 5.

A) 1A2

B) 1/4

C)1/2

D) 1/212

www.Trb Tnpsc.Com

12. A bullet of mass 20g and moving with 600 ms™
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™ B) 300 ms™!

C) 200 ms™' D) 400 ms-"

20 g mlemm wWMMID 600 ms' HenFGeUd:SHSIL 60T
FHMHLD CHTLLT @erm SWlm searmlev QMRS S
Q& MEUOTIL (F&HEGLD 4 kg Mlemmulemer SLemLuller WO
CuMsIHmsl. CLmesaasEL e sLenLwimenrs 0.2 19
2 WIJD 2 Wihsmey SLemLenw oL@ QeueflCGw
U@L CuMs G L Lmelledr &emaGeoudsLn eTedT6r?

A) 150 ms™ B) 300 ms™'

C) 200 ms™! D) 400 ms™!

13. A block of mass 0.50 kg is moving with a speed
of 2 ms™! on a smooth surface, it strikes another
mass of 1 kg and then they move together as a
single body. The energy loss during the Collison
1S

A)0.67 ] B)0.16J

C)034] D)1]

050 kg mBlemm GQ&MetoTL. 6(H &L 60 WITETS
QlwealpLiLImenr LIFLILew 2 ms eTeorm Goud S Hl6v

BHEGHMS, 318 LOHAOI® 1 kg Blenmuier el
Crs @Gy QUITEHETTEH BEHMHHPIMS 6Teflev

GLorge0letr GLIME eFMUIL L. SL,MMmev @) LpLIL|

A)0.67] B)0.16

C)0.34] D) 1]

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A) 0 B) 1/3 mu?

C) 1/2 mu’ D) 1/5 mu’

u GCaussHev MBS HSET QTM 6l
Blemevuiev 2 6Tem 2m BlemmMUWETET MHGMITTH
Qumerfleor Ws W WLAwWwmmM GCursedlev
FOUBSBMmSI ereoflev Gnngedledr GUME gmu (b
S MM6eL @LPLIEDLI &ITE00TSH
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A)O B) 1/3 mu?®

C) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™. If lift 1s moving in the
upward direction with a velocity Ims', then
velocity with which the ball rebounds after elastic
collision will be

A) 13 ms™ B) 11 ms™
C) 9 ms™ D) 12 ms™
e GOUILL 2wrsHelmns  10ms

CausSH 6L AL LBS eTm Tms' CaushsHev
Gev CBMESH B WleTEHTSH & UI6T &Hems S ev
CUMEH M erenflev LB WLF CnseuenL bHE
GV LDL|LD HlenFGausLD.

A) 13 ms™ B) 11 ms™'

C) 9 ms™! D) 12 ms™

CHEMISTRY Q.No. 16 to 30

16. A button cell used in watches function as

following If half cell Potentials are

Zn, +Ag,0,tH,0, — 2Age + Znim + 20H 4,
Zn+ 26— Zne E° =— 0,78V

A0 + H,0 (1) + 2e — 24g) + 20H E° = 0.34V

The cell Potential will be

A)0.84V B) 1.34V

C) 1.10V D) 0.42V

MEEEHUESTIRSEGMe uweTu(G b wWlerseuld
Wletreu BTN QFWeLBHISmS.
Zn,,+Ag,0,tH,0, — 2Age + Znia + 20H
Zngy+ 26 — ZngE° =—0.76 V

Ag:Oy+ H,O(l) + 2e — 2A4gy + 20H» E° = 0.34V

GLDM 55600T L 2|60 7 LSl eor F605 5 6V
WereorpSSmSefley Q@ pbha  LetTSH6vE 5 6ot
60T YWDSHHHM S 560015 H) (h 5.

A)0.84V B) 1.34V

C) 1.10V D) 0.42V
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7. A hydrogen gas electrode 1s made by dipping
platinum wire 1s a solution of Hcl of PH = 10 and
by passing hydrogen gas around platinum wire
at one atm pressure The oxidation potential of
electrode would be?

A)0.118V B) 1.18V
C) 0.059V D) 0.59V
PH = 10 eo6dremr HC SeopgsFedey enpsH

maug&sUUL (eTer emmligeortn wledreumul
ELOGULD EDQULY [TE60T GUITL] 2 (HeUM&ELILMSMmS..
o6 o6l JWSSSHH0 Weraumenw & mhol
60) QU L[] 2 60T 6UIT U QFLHMS eT60r 160
Wl evreumuileor u86rdle2@sormm HMET 6T6T60T?

A)0.118V B) 1.18V

C) 0.059V D) 0.59V
18. When 0.1 mole of MnO,* is oxidised the quantity

of electricity required to completely oxidise to
MnO,* to MnO -

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C
0.1 Gumev MnO,” 88 MnO,” g&eilgGarmmLD
QML W F Q& LWl (G & 60)6U LI T60T
LAl 60T G 60T ITL L& 55\ 60T 2{61T6Y 6TE0T60T?

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C

19. A Derice that converts energy of combustion of
fuels like hydrogens and methane directly 1s to
electrical energy 1s know as,

A) Fuel cell
B) electrolytic cell
C) dynamo

D) Ni-cd cell

60 QU L_[J 2 60T L0 M MILD 158 @ 60T IR
erflQuUmBL&emeT 6TflILS6T enevld  GLUmILD
iflgzey Qauliusems GBS  LOETETMMEVTS
DTMMILD SHedl 61517?

A) erflLAl6dTS VLD

B) WileoT L@ 6rfl LAletTa6VLD
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C) e LeoTGLOIT

D) Ni-cd wledr&euLn

20. Aqueous solution of which of the following
compounds 1s the best conductor of electric

current?
A) CH,O, B) HCI
C) NH, D)C.H.O.

etteu@pld Gpomserfler BIs%s SHempFeuserley
618 FmHS WOl6TEHL & 5)?

A)CH,O

2 472

B) HCI

C) NH, D) C.H,20,

21. The molar conductivity of a 0.5 mol/dm3 solution
of AgNO, with electrolytic conductivity of
576 x 10 cm™" at 298 K. 1s,

A)2.88 S cm?/mol
B) 11.52 S cm?/mol
C) 0.086 S cm*/mol

D) 28.8 S cm*/mol

298K 6V WletTsLSSIHmer 5.76 x 10~ cm™' 2_simerT
0.5mol/dm’ semg&Fedleir GLameun HL &S5 H men6ors
& 60015 5 (h) &.

A) 2.88 S cm?/mol

B) 11.52 S cm?/mol

C) 0.086 S cm?/mol

D) 28.8 S cm?/mol

22 If the E° cell for a given reaction has a negative
value which of the following gives correct
relationships for the value of AG® an K eq?

A)AG°>0;Keq<l
B) AG°>0O; Keq>1
C) AG°<0;Keq>1

D) AG°<0O; Keq <1

www.Trb Tnpsc.Com

QEMOH&SUILLB6TeT 6@ WearsausHer E°
cell QueoTd TH T S LIS, geoTmmev AGC
NMMID K FWOPFlMeVEESID 2 6Tem Q&ML [J6m L
Lletreu@ld Q&ML &erlev siflwmers e1si?

A) AG® > 0; Keq > 1

B) AG® > O; Keq > 1

C) AG®° > 0; Keqg > 1

D) AG® < O; Keqg < 1

23. The number of electrons delivered at the cathode
during electrolysis by a current of 1 ampere 1n 60
seconds 1s (charge of electron=1.60 x 107°C)

A) 6 x 1023
B) 6 x 102
C) 3.75 x 107

D) 7.48 x 10%

1 lwug Wbler Fosamnss Qsmeuor(h
60 QBMOSEeT Wereormm USSESWL GCuMs
oI B\ 7Ll 6dreu mullev QeuefluiL Liu@In
616V & L_[J MedT&s 61t | 60T 6T600T 60011 8560 & 6T60T 60T ?
(erQeu&L_menfledr WlearsemLn - =1.60 x 10°C )

A) 6 x 10

B) 6 x 10°°

C) 3.75 x 10%

D) 748 x 10%

24. The radical ©— CH,- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors
B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons

D) 7P — orbitals & 6 unparted electrons
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@-CH; gearm 2 oIy SCrMGLLIGE
S60Te0 LD |60 L LIS 6JGlenTént]ev,

A)7P S FTUILLM6L&GET WmHmID 7 SflsHs
6TEI6VS LT ITEOTSH6IT

B)6P uFLILLMEVGET WMmmID 7 SHeoflss
6TGI6L S LT TEOTSH6IT

Q6P - rULLmeuseT LMMID 6 SaflsHs
6TGI6L S LT TEOTSH6IT

D)7P uTUlLLMeVSEeT WMmMID 6 SHeflss
6TGQI6V & L[T IT60T & 61T

25. The structure of Isobutyl group in a organic
Componds is

A) CH ~CH ~CH ~CH -
CH.

B) | J
CH,~C—
|

CH

3

CH,
C) >CH—CH2—
CH,

D) CH,~CH-CH,—CH,

@M &flln CGFiwgHev NCGFm  LlwLemLey

2 mILILedr SyemLOLIL] 6T60T LIS
A) CH,-CH,~CH_—CH,-

CH,
B) |

CH,—C—
I
CH

3
Git,
& >CH—CHE—
CH,

D) CH ~CH-CH ~CH_

26. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most

deactivating?
A)-COOH B) -NO,

C)-C=N D)-SO.H

www.Trb Tnpsc.Com

Gy MGELOL 19 & LS 60 ()LD ellem eor S 61l 6L
Fev QuLLT eafl BLESD QSTSGH ST
SrluL(hememenr. aummley 618 W& UH&HIMSH

Q& WELH MM 6T G MEHMS.
A) -COOH B) -NO,
C)-C=N D) -S0.,H

27. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

UletreumLd &iflln GFFLO(OL, SHsemL W 6TIfl56v
allemerLIQUT@GETTHIW CO, b Gy elgLnmeor
SHEVLILI60TLO S &6m 6V G\LI M MI6ITET6oT?

A) T &G & 60T B) FF&60)& 60T

C) /& 5601 D) 618 60T TV

28. Which one 1s most reactive to wards nucleophilic
addition reaction?

@CHO
A)
0O

CHO

g

CH

CHO

(o)

NO
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FHHHSHT CFI&HmMSE allemenruilev & H &IOMSH
allemeor L fl LD S560T6mLOWL|60) L WIS 6TSI?

CHO
A)

S

CHO

29 Which of the following compounds will
undergoes racemisation when solution of KOH

hydrolysis?

A)@

B) CH ~CH,~CH —CI

CH.ClI

CH,
C) |
CH,—CH—CH,—Cl

CH

3

D) H—C—Cl

Gy

www.Trb Tnpsc.Com

KOH @Q&meoor(h) BymmU@GSHSLD Cunmgl LereusLd
GFnMmIGe eV 618 ST S6eVen 6l MELD
allemerrES 2 UGB mE?

CH,ClI
NOf
B) CH~CH,~CH,~CI

CH,
C) |
CH,—CH—CH,—Cl

CH

3

D) H—C—Cl

CEHS
30. In an SN, reaction as chiral Centres there 1s

A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention

D) 100% inversion
60)&HJ6V 460 LOLILY 60T L&! SN, el6m 60T LI 60T HM&H&LD
A) 100% &+ LOILOIT UL 856V60)6UWLIIMTE6V

B) @JemLoLIL] Blemev QLIMISGSEm6L (retention) eT&HI T

FLOHFAWTHEV (Inversion) B S&LOMTS6EVTEV
UGS GOl mul & 6060 6Y LLI TS (& & 6D) 6V
o (HEUMTHSGSH M.

C) 100% =emLDLIL] Blem6v GlLIMISSE6D

D) 100% 2emLOLIL] 6TH [T LOMISH6V

MATHS Q.No. 31 to 45

31. Ifinthe expansionof (1+x)™ (1-x)", the co-efficient
of x and x* are 3 and —6 respectively then the
values of m and n are

A)9, 12
B) 8, 16
C) 12,9
D) 13,9
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(I+x)™ (1-x)" eteorm elfleunHsEEH 6L (WemmEW
x, X2 Su&Weumler Q&WEG&6T 3, -6 6Tefleu m, n
6T600T S 61T 60T LOGH LIL| G561

A)9, 12

B) 8 16

C) 12,9

D) 13, 9

32. The last two digits of (27)*" are
A) 01 B) 02

C) 03 D) 04

(27)7 —60T SHEDLTF) @) B)6V& & MIS6IT
A) 01 B) 02

C) 03 D) 04

33.(z+v2'—1)°+(z—+v2'—1)"is a polynomial
of degree
A)5 B) 6

C)7 D) 8

(z+/2*—1)°+ (z—/2°—1)° etedrm LILEV DI ILYE
Gsmemeuudledr LI

A) 5 B) 6

Q)7 D) 8

34 The sum of the roots
20017
(Lo = s

of the equation

A) 504
B) 400
C) 304

D) 404

www.Trb Tnpsc.Com

i (% — :ar:)m17 =0 6T6OTMD & LDGOTLIITL L9607

LDV S 61T1 60T Fo (b &6V
A) 504
B) 400
C) 304

D) 404

35. Given T, inthe expansion of (1-3x)° has maximum
numerical value, the range of x 1s

N
B) [—DD,, —1 ]U[E—ng
ola

(1-3x)¢  eteorm @lflaunsssHenr WLUQUIH eTevor
LG 2 6o 2 mILIL T, 6T601 16V x-60T eI &F & LD

olkd

ool

2022

: 4
36. Fractional part of the number ==

1S equal to
A) 8/15
B) I/15

C) 14/15

D) 4/15
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2022
— e eresoremle L) LIGH

A) 8/15
B) 1/15
C) 14/15

D) 4/15

37 If the number of terms in the expansion of
(:n-l- 1+ %)n 1s 17 thenn is

A) 8 B) 9

cy17 D) 16

( Gk %) seory  elfleunssEsHev 2 aem
o miLIL&6rfledr eTetoTen0l | &H6m& 17 6T60T16D N=
A)8 B) 9

Q)17 D) 16

: 10
38. The co-efficient of x* in (5 — 32) 1S

T
A) 405/256 B) 504/259
C) 450/263 D) none
A o A .

(3 — ?) ereor elfleum& &5 60 x*—60T G5 (LD
A) 405/256 B) 504/259
C) 450/263 D) eT&i 6y Ll 6Lemey

39. The largest term in the expansion of (3+2x)
where x=1/5 1s

A) 4, 5th term
B) 5, 6th term
C) 6, 7th term

D) 7, 8th term
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(3+2x)" eeorm  lfleunEHESEHeL  x=1/5-6v

Wsuauiflwu 2 oy
A)4,5 210 2 MILIL|&6IT
B) 5,6 Q0 2 _MILIL|&6IT
C) 6,7 Q0 2_MILIL|S6IT

D) 7,8 &LL0 2_MILIL|&6N

40. In the binomial expansion of (a—b)", n=5 the sum
of 5th and 6th terms is zero, then a/b 1s

(a=b)", n>5 eteorm FEmLIL allifladlev 5 LDMHMILD 6
QD 2 i sefler Fa(h&ev L, ereflev
a/b-60T LOGHLILY

A) ngS B) n-5-4

5 6
n—A4 n—H

Q)

41. The co-efficeient of x'' in the expansion of (1+x*)*
- yRne

A) 1051
B) 1106
C) 1113

D) 1120

( 1_|_K2)4 ( 1+}{3)T ( 1+K4) 12
x'1—60T Q& (LD

eteorm  elifleumsss & ev

A) 1051
B) 1106
&) 1113

D) 1120
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42 The co-efficient of t* in the expansion of ( L=t )3

L
1S
A) 12 B) 15
C) 10 D) 14
(11:%: )3 eteorm eflifleflev t* -60r QWD
A) 12 B) 15
C) 10 D) 14

43 If n 1s positive integer and if (1+4x +4x*)" =

jzﬂﬂwmr where a.’s fare (1=0,2,3, ....... 2n)real
r=0

numbers then the value of 22 Az 1S
A) 91
B) 9"+1
C) 9°-2

D) 9742

2n
N 6B LA 60Y 85 (LD (LD 6T6D0T, (1+4x+4x%)" = Zﬂ.ff @\ mIGai,
r=10

(i=0,2 3, ... 2n)GLOLIe6T600TS6IT 6T60l 160 QZ%-E'H
&I .

A) 9"—1
B) 9"+1
C) 972

D) 9"+2

44. Ifthe second term intheexpansinn(”xﬁﬂ T i }1 )
1s 14a* then the value of %2 IS

A) 4
B) 3
C) 12
D) 6
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(” a+ ﬁ) eTeorm el fleums &8 5 6V @) J6uorLITLD
5

o mILiL 14a%? eTénflev %? -60T L0\ LIL

A) 4
B) 3
Q) 12

D) 6

45 The fist integral term in the expansion of
(V3+32) is its

A) 2nd term
B) 3rd term
C) 4th term

D) 5th term

(V3+12)  aretry NFlUNEEEH O WHE (WD
6T600T 2 MmILIL]

A2 D2 mILIL]

B) 3 &40 2. MILIL]

C)4 Sulb 2 Wil

D)5 3,0 2 miLiL)

YouTube/ Akwa Academy
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